VL-Bli/B2
BT/ N —=IE0E 2ssmss

O _D/N=YXRE, BIERTT,

QNP DA SR IBEBILLZEDZFERLTNET, E2. cEHRN
FERLEEIDCENDHDET,

0

(=

O M R GDERICIE, M MNEHMIESR) 2CERESH,
RlGEEASNT I CRBOHESTEORRAEEDET,

HEFE1—1: 02255/02256

R6.11.2284 5
/\| R6.7.162KE

H20.10.1{f4& 2 IE
H19.4.19 E X




FIG1 YL—B1i.B2i R—XIL—LHTI)IL—TF




YL—Bli -B2i

R—=Z2 T L —LTN—TF

N =IY AR

ZEHHi—

- I

FIG. 1 IR & ST 25 A
FIG |/8—Ya—F O & B | SRSk BTHERL [ 1o ok DHH
1-1-0 TYMAT=(A) Assy 1 |58,290 M| 58,290 H FIG;1-4-5~13-68-75~77 | A
1-1 | 12 292 001 01 |79MH =(A) 1 25,200 M| 25,200 4 (4i,1Bi.2Bi) A
1-2-0 TYMAT=(B) Assy 1 |53,240 M| 53,240 M FI1G;2-3-6~13-68 A
1-2 | 12 292 002 01 |79MH —(B) 1 25,200 M| 25,200 4 (4i,1Bi.2Bi) A
1-3 | 12 292 003 01 [79M)4" =7 77y b () 1 |11, 300 [ 11,300 (4i,1Bi. 2Bi) A
1-4 | 12 292 004 01 |79MNA =7 Fhyb (FE) 1 |14,400 M| 14,400 4 (4i,1Bi.2Bi) A
1-5 | 12 292 005 01 |7vAbN A7 1 1,070 M| 1,070 H (4i,1Bi. 2Bi) A
1-6 | 12 302 011 01 |[~/b W 2 3,600 M| 7,200 H (4i,1Bi. 2Bi) A
1-7 | 10 112 10A M1 |ASAIATE Wi 4 160 M 640 M M10X 30 (41, 1Bi.2Bi) A
1-8 | 10 130 102 21 |27 Vv vyya— 4 20 M 80 M M10 (41, 1Bi,2Bi) A
1-9 | 10 111 16] N1 | A5 vh 2 340 M 680 M M16X70 (41, 1Bi,2Bi) A
1-10
1-11 | 10 121 16C 21 |Ffnvfyb 2 410 H 820 M M16 (4i.1Bi.2Bi) A
1-12 | 12 292 007 01 |7-~"—t"v 2 9,300 M| 18,600 H (4i,1Bi. 2Bi) A
1-13 | 12 292 008 01 |A7° )~ 2 1,050 M| 2,100 M (4i,1Bi. 2Bi) A
1-14-0 7 V=¥ 1 WAssy 1 5,580 M| 5,580 H FIG;14~19 A
1-14 | 12 302 012 01 |77 V=4~" 4w 1 4,200 M| 4,200 M A
1-15 | 12 292 012 01 |7"Vv=4x7"V)v)° 1 1,070 M| 1,070 H A
1-16 | 10 146 J40 21 |A7° V)"t v 1 100 H4 100 H4 $ 640 A
1-17 | 10 111 08A N2 | AAK V| 1 100 H4 100 H4 M8 X 30 A
1-18 | 10 134 KQ5 91 |7° V=p0yvy- 1 30 M 30 M M8 A
1-19 | 10 121 089 21 |F{mvfyb 1 80 H 80 H M8 A
1-20 | 10 147 J35 22 |#lt v 2 40 H 80 H4 ¢ 4X35 A
1-21 | 10 134 knC 31 |7 v=}FJy¥y— 2 160 H 320 M M25 A
1-22 | 12 292 013 01 |44 2 [13,200 M| 26,400 M A
1-23 | 10 147 J35 22 |&l 2 40 H 80 H4 $4X35 A
1-24 | 10 134 knC 31 |7 Vv=}FJyyy— 2 160 H 320 M M25 A
1-25-0 §{¥Assy 1 | 13,400 H| 13,400 H FIG;23~25 A
1-25 | 12 292 013 01 |44 2 [13,200 M| 26,400 M A
1-26 | 10 134 knC 31 |7 v=}FJyyy— 2 160 H 320 M M25 A
1-27-0 AFTV)T=h(A) Assy| 1 |10,010 H| 10,010 H FIG;27~31-50 A
1-27 | 12 302 008 01 (7707 7=h(A) 1 5,520 M| 5,520 M A
1-28 | 10 filt 10A M1 |AAK V| 4 210 M4 840 M M10 X 30 A
1-29 | 10 130 102 21 |27° V)" Uyv4— 4 20 M 80 H4 M10 A
1-30 | 12 292 018 01 |/ VA=y7 I 2 170 H 340 M A
1-31 | 12 302 013 01 [A77)v7" 7" Fhy b (A) 1 3,840 M| 3,840 M A
1-32 | 12 302 014 01 |~"=A7V=h 1 67,200 4 67,200 [ B
1-33 | 12 302 001 01 |Yxf} 1 |58,800 [ 58,800 [ B
1-34 | 12 302 002 01 |9=fME &z (A) 1 3,960 M| 3,960 M A
1-35 | 12 302 003 01 |J&7EMEE &4 H (A) 2 [13,200 M| 26,400 M A
1-36 | 12 302 002 01 |[9=fMEE % (A) 1 3,960 M| 3,960 M A
1-37 | 12 302 004 01 |%&7EREE &4 H (B) 1 5,160 M| 5,160 M A
1-38-0 ny b (C)Assy 1 3,980 M| 3,980 M FI1G;38-45~48 A
1-38 | 12 302 005 01 |my}h(C) 1 3,720 M| 3,720 M A
1-39 | 10 104 16Q d1 |+F/AHIL/ " 4 50 M 200 M8X30 A
1-40 | 12 302 006 01 |~ N - 2 680 M| 1,360 M A
1-41 | 10 111 O8H N2 |AHEK V| 4 410 M| 1,640 M M8X65 A
1-42 | 10 134 KQ5 91 |7° V=p0yvy- 4 30 M 120 H M8 A
1-43 | 10 130 082 22 |27° V)" Uyv4— 4 30 M 120 H 8 A
1-44 | 10 120 089 M1 |Af&Tyh 4 30 M 120 H M8 A
1-45 | 10 111 80A N1 |AAK V| 1 100 H4 100 H4 M8X30 44y A
1-46 | 10 120 089 M1 |AfaTyh 1 30 M 30 M M8 A




YL—Bli *B2i ~N—=RTZL—ALZN—7F N =Y}

FIG. 1 F—
FIG |[/X—Ya—F WAk & B [HRsk| BEYERLA | 1a ok | R {hn £k ¥
1-47 | 10 111 80A N1 |AAK Wb 1 100 [ 100 [ M8X30 44" A
1-48 10 120 089 M1 [/NFtyh 1 30 M 30 M M8 A
1-49 | 12 302 007 01 |t" v (A) 1 470 [ 470 1 A
1-50 | 10 147 S15 21 &It v 1 20 M 20 M $3X%15 A
1-51 | 12302 007 01 |t" v (A) 1 470 1 470 1 A

1-52-0 7707 7=k (B) Assy 1 |10,030 M| 10,030 M FI1G;28~31-52-54-55 A
1-52 | 12 302 015 01 |%77)»7" 7—h(B) 1 5,520 | 5,520 [ A
1-53 | 12302 007 01 |t" v (A) 1 470 [ 470 1 A
1-54 | 10 147 S15 21 &It v 1 20 M 20 M $3X%15 A
1-55 | 10 147 S15 21 |#It" v 1 20 M 20 M $3X%15 A
1-56 | 12 302 009 01 [uyh(D) 1 2,880 M| 2,880 A
1-57 | 12302 007 01 |t" v (A) 1 470 [ 470 1 A
1-58 | 12302 007 01 |t" v (A) 1 470 1 470 [ A
1-59 | 10 147 S15 21 &It v 1 20 M 20 M $3X%15 A
1-60 | 12302 010 01 A/} W7=A4 1 4,320 M| 4,320 M A
1-61 | 10 111 10E M1 |ANAE Wb 1 200 200 M M10 X 50 A
1-62 | 10 130 102 21 |A7 )" Uyya— 1 20 M 20 M M10 A
1-63 | 10 112 102 N1 |75 NAIE Wb 2 160 1 320 M10X 10 A
1-64 | 10 130 102 21 |A7 )2 Uyya— 2 20 M 40 M M10 A
1-65 12 302 017 01 [~/N W7 749k 1 6,500 | 6,500 M A

1-66-0 /b WAssy 1 |15,660 M| 15,660 H FIG;60~67 A
1-66 | 12302 011 01 |/} W 1 3,600 4| 3,600 M A
1-67 | 12292 025 01 |77 V97" 2 840 M| 1,680 [ A
1-68 | 12292 009 01 |7 V=pUyyy— 2 1,680 M| 3,360 M M8 (INLi%) (4i,1Bi.2Bi) A
1-69 | 10 111 087 M1 [AfK Wb 6 90 M 540 [ M8 X 20 A
1-70 | 10 134 KQ5 91 |7° v=FIy¥a— 2 30 M 60 M M8 A
1-71 | 10 130 082 22 |27° V)" Vyya— 4 30 M 120 [ M8 A
1-72 | 10 111 089 M1 [AfK Wb 2 100 M 200 M M8 X 25 A
1-73 | 10 130 082 22 |27° V)" Vyya— 2 30 M 60 M M8 A
1-74 10 120 089 M1 [/NFT+yh 2 30 M 60 [ M8 A
1-75 12 292 010 01 |#Vp™=27"))° 1 810 M 810 M (4i.1Bi.,2Bi) A
1-76 | 10 130 041 21 |A7 )2 Uyya— 2 30 [ 60 M M4 (4i,1Bi,2Bi) A
1-77 | 10 103 12D Al |+F2RAF /g 2 40 M 80 M M4X6 (4i,1Bi,2Bi) A
1-78 | 12302 016 01 |77 V=%7-A 1 | 11,200 M| 11,200 [ A
1-79 10 111 085 M1 |7SHHK W] 4 110 M 440 M M8 X 16 A
1-80 | 10 130 082 22 |27° V)" Vyya— 4 30 M 120 [ M8 A
1-81 | 10 134 KQ5 91 |7° v=FIyya— 4 30 M 120 [ M8 A
1-82 | 10 134 NU3 21 |7° V=F0yya— 4 30 M 120 [ M10 A
1-83 | 10 134 NV1 81 |#iE7yv+- 4 50 M 200 M A
1-84 | 10 134 GK3 32 |7° V=FIy¥a— 2 30 M 60 M M6
1-85 | 12224 314 10 |7~ WEE TIMNI ) 2 360 [ 720 [

1-86 | 12 224 412 11 |7~ MRIETINI —F) 1 3,640 [ 3,640 M
1-87 | 12224 411 11 |7~ MgRIE(I NI /) 1 3,640 | 3,640 M
1-88 | 12224 612 10 |7~ VEIR (TVAMY A77) 1 120 [ 120 [
1-89 | 10 118 065 71 |79/ & wb 1 40 M 40 M M6X16

EHET—IH « BHEEH

l

1B & RS B85
D H




FIG.2 YL—1Bi, 2Bi &L V—=7" /83—YH




YL—B1li, B2 i

R—=NTN—T R=VF

AT H - ATHE—H

FIG. 2 : ﬁ& A DALY | |mn e sty s e
F| =Y a—F I TR A i | AR BRI | 1o e kR Syfa-t DA
2-1 12 333 003 01 |& - (1) 1 | 66,000 | 66,000 M B
2-2 12 303 002 01 [WA¥V/7 &K 972 1 7,500 M| 7,500 M A
2-3 | 10 108 A8J 92 |+F=/Xfbhyt A v 4 50 M 200 4%10 A
2-4 | 12 293 004 01 |94vF(J3%) 1| 43,200 3| 43,200 M PM200W A
2-4-1 | 12 293 005 01 |47 1 | 42,000 M 42,000 M X%, 2-4 &y} A
2-4-2 | 12 293 006 01 |WAv/F /b W 1 | 18,000 F| 18,000 M K. 2-4 &ty b A
2-4-3 | 12 293 007 01 [94vF(J3) 1 | 43,200 M 43,200 M WO6—512G-23% 1 | IR & HHfRF AR 7 A
2-5 10 111 085 M1 |/SAH Wb 2 110 M 220 H M8 X 16 A
2-6 | 10 130 082 22 |x7° V)" Dyyy— 2 30 M 60 M 8 A
2-7 | 10 134 KQ5 91 |7° v=FIy¥a— 2 30 M 60 M M8 A
2-8 | 12 A83 012 01 |/yvava A 1 1,010 M| 1,010 [ ¢ 4X5m A
2-9 | 12 633 009 01 |n-7—(A) 1 3,840 M| 3,840 H A
2-10-0 t’ /Assy 1 1,470 M| 1,470 M X% ;10~11 A
2-10 | 12293 110 01 |t" ¥ 1 1,440 M| 1,440 1 A
2-11 | 10 147 F12 01 %" 2 30 M 60 M $2X12 A
2-12 | 10 112 062 01 |/ 7XfFR Wl 2 40 H 80 M M6 X 10 SUS A
2-13 | 10 130 061 02 |27 V)" Uyya— 2 30 M 60 M M6 SUS A
2-14 | 10 111 107 M1 |45 Wb 5 140 [ 700 M M10 X 20 A
2-15 | 10 130 102 21 |A7° V)" Uyya— 5 20 M 100 [ M10 A
2-16-1-1| 12 694 107 01 |ZE2E (50Hz) 1 | 75,600 | 75,600 M YL-B1i A
2-16-1-2[ 12 694 108 01 |ZE#+ (60Hz) 1 | 75,600 M| 75,600 M YL-B1i A
2-16-2-1| 12 294 001 01 |Z27E %% (50Hz) 1 | 70,800 M| 70,800 [ YL-B2i A
2-16-2-2| 12 294 002 01 |Z¢7E%s (60Hz) 1 | 70,800 M| 70,800 M YL-B2i A
2-17 | 10 111 107 M1 |S£E W} 2 140 M 280 M M10X20 YL-2Bi A
2-18-1| 10 130 102 21 (27" V)" Uy¥vy- 3 20 M 60 M M10 YL-1Bi A
2-18-2 | 10 130 102 21 (27" V)" Uyyy- 2 20 M 40 M M10 YL-2Bi A
2-19 | 12 293 001 01 |f47y¥4— 2 480 M 960 M BN T8 A
2-20 | 12 303 004 01 | 1 2,400 M| 2,400 M A
2-21 | 12 303 005 01 |»/h™ = 1 8,000 [ 8,000 M A
2-22 | 10 111 109 s1 |/AfE Wb 4 150 [ 600 M M10 X 25 A
2-23 | 10 130 102 21 |A7° V)" Uyya— 4 20 M 80 M M10 A
2-24 | 10 111 085 M1 [/NF4K b 2 110 M 220 H M8 X 16 A
2-25 | 10 130 fit 22 |27 )7 Uyva— 2 30 M 60 M 8 A
2-26 | 12 224 312 01 |7~ w4 (BuRai g ) 1 600 [ 600 [ A
2-27 | 12333 002 01 |7 A} (D) 1 1,920 M| 1,920 [ A
2-28 | 12333 001 01 |#° 4} (B) 1 1,680 M| 1,680 M A
2-29 | 12 303 003 01 |y—7" M - 1 2,040 M| 2,040 M A
2-30 | 10 130 082 22 |27 V)" Vyya— 2 30 M 60 M M8 FIG ; 2-3LIZ1J& A
2-31 | 10 111 089 M1 |/SFHK Wb 2 100 M 200 M M8 X 25 FIG ; 2-301 )& A
2-32 | 12 343 102 01 |#° 4} 1 960 M 960 M A
2-33 | 12333 002 01 |7 A} (D) 1 1,920 M| 1,920 M A
2-34 | 12 343 109 01 [vx}yy¥(C) 1 6,800 M| 6,800 M A
2-35 | 10 134 NV7 32 |7° V=}F0y¥g- 1 30 M 30 M 8 A
2-36 | 10 130 082 22 |A7° V)" Vyya— 1 30 M 30 M M8 A
2-37 | 10 111 089 F2 | AAK b 2 100 [ 200 M8 X 25 A
2-38 | 12 343 106 01 |& - (2) 1 | 33,600 M| 33,600 [ B
2-39 | 10 112 062 nl |/SH /AR v 3 60 M 180 M M6 X< 10 A
2-40 | 10 135 06L 11 |¥774Vy¥4— 3 30 M 90 H M6 A
2-41-0 n—7-(B) Assy 1 6,570 M| 6,570 [ X% ;39~41 A
2-41 | 12 293 119 01 |u—7—(B) 1 6,300 M| 6,300 [ A
2-42-0 n—7-(C) Assy 1 14,660 | 14,660 M X% ;42~44 A
2-42 | 12 303 015 01 |747427" VAb(A) 1 | 14,400 M| 14,400 H A
2-43 | 10 130 051 02 |27 V)" Uyya— 4 30 M 120 [ M5 (SUS) A
2-44 | 10 112 053 01 |/ IXFR W] 4 100 M 400 M M5 X 12 (SUS) A




YL—B1i,

B2i

RN—=NTIN—T R=UF

FIG. 2 A SR
K #F | S=Ya—F o 4 W fili PR B | R VEEAAN | 1a s | oE fIAk Par BNl
2-45-0 ny )t AREERVN ~Assy 1 5,710 [ 5,710 1 [/ 7 45~48-61~62 A
2-45 | 12 293 125 01 |myt" ARERUA - 1 900 [ 900 M A
2-46 | 12 224 416 10 |7~ ME/E (AL FF 2 EEG 1V T0) 1 940 1 940 1 A
2-47 | 10 120 089 M1 |[A<FFyb 1 30 [ 30 [ M8 A
2-48 | 10 134 NV7 32 |7" V=F0yvy- 1 30 [ 30 [ M8 A
2-49 | 12 333 002 01 |#" 4} (D) 1 1,920 M| 1,920 M A
2-50-1 | 12 224 601 01 |7~ V355 (100V/50Hz) 1 290 M 290 M A
2-50-2 | 12 224 602 01 |7~ V355 (100V/60Hz) 1 290 M 290 M A
2-51 | 10 130 082 22 |27 V)" Uyvy— 2 30 60 [ M8
2-52 | 10 111 085 M1 |AHK VI 2 110 [ 220 M M8 X 16 A
2-53 | 12333 002 01 |#" 4} (D) 1 1,920 M| 1,920 M A
2-54-0 vAMvyF (D) Assy 1 7,520 M| 7,520 [ X% 54+ 58~60 A
2-54 | 12 343 108 01 [vAb*vyF (D) 1 7,400 M| 7,400 M A
2-55 | 10 134 NV7 32 |7" V=F0yvi- 4 30 120 M8 A
2-56 | 10 130 082 22 |27 V)" Uyyy— 4 30 120 M8 A
2-57 | 10 111 08B M1 [AFAK Vb 2 150 [ 300 M M8 X 35 A
2-58 | 10 134 HS5 91 |7° V=FUyyy— 2 30 [ 60 [ M6 A
2-59 | 10 130 061 21 |27 V)" Uyvy- 2 30 [ 60 [ M6 A
2-60 | 10 111 06g M1 |7<FH Vb 2 60 [ 120 M6 X 15 A
2-61 | 12 292 008 01 |27 Y/~ 1 1,050 4| 1,050 [ A
2-62 | 12 293 127 01 |myJt v 1 2,760 M| 2,760 [ A
2-63 | 12333 001 01 |#" 4} (B) 1 1,680 | 1,680 M A
2-64 | 12 303 003 01 |/=7" Vibwp - 1 2,040 M| 2,040 M A
2-65 | 10 130 082 22 |27 V)" Uyvy— 2 30 [ 60 [ M8 XFIG ; 2-661 /& A
2-66 | 10 111 089 M1 [AFAK Vb 2 100 M 200 M M8 X 25 XFIG ; 2-651 /& A
2-67 | 12 303 019 01 |77 $yb 1 410 1 410 1 BN 5 A
2-68 | 12 343 107 01 [ -w(3) 1| 22,800 Hf 22,800 M B
2-69-0 t" 7 (947-) Assy 1 1,550 M| 1,550 M X7 :8-69- 70 A
2-69 | 12293 128 01 |t" v (V4¥-) 1 520 [ 520 M A
2-70 | 10 147 S15 21 |#t v 1 20 [ 20 M $3X15 A
2-71 | 12 303 008 01 [9fvFhn - 1 6,800 M| 6,800 [ PM200WH A
2-71-1 | 12 303 009 01 |94/ Fhn = 1 6,800 M| 6,800 [ W06-5126-2f A
2-72 | 12 224 417 10 |7~ MEAE (A RED) 1 260 260 [
2-73 | 12 224 312 01 |7~ VA4k (BB ) 1 600 M 600 [ A
2-74 | 12 344 101 01 |&JH7° 977 CP 1 11,300 M| 11, 300 Y LIGK 9877 507 %47 J4=h=7" Wbt A
2-75-01 | 12 334 001 01 |a%/4—CP (%) 1 26, 400 [ 26,400 [ SLIBG 77 WO TR A
2-75-03 | 12 334 002 01 |2%74—CP () 1 | 26,400 M| 26,400 M oA R Ay A
2-75-02 | 12 754 001 01 |a%/4—CP (#2) 1 217,600 M| 27,600 [ SL2BE Y7 W OSTAGARE RN 7 (53 09) A
2-75-04 | 12 754 002 01 |2%/4—CP (#2) 1| 27,600 M| 27,600 [ Ty e A
2-75 a4 (F2) 1 & ! NRW205PF123% B i HH faf /R 7] A
2-75-1 b= (F2) 1 M M NJW205PF123% B i HH faf /R 7] A
2-76 | 12 224 414 10 |7~ ME/EToAP3ES 1 1,200 M| 1,200 M
2-77 ¥7 -7 A 1 ! F F=7" WD It faf A ] A
2-78 | 10 111 10B ML |[AFAK Vb 2 150 [ 300 M M10X35 YL-BIi A
2-79 | 10 119 107 31 | FUTK AUk wh 1 120 M 120 M10X20 YL-BIi A
2-80 | 12 333 004 01 |ZZ/ERRTHyFAV] 1 18,000 | 18, 000 YL-B1i A
2-81 | 10 120 10A M1 |[A#FFyb 1 30 30 MI0  YL-BIi A
2-82 | 12 894 006 01 [2fyF 1 3,480 M| 3,480 [ YL-Bli A
2-82-1 | 12 894 006 01 |A(yF 2 3,480 M| 6,960 [ YL-B2i A
2-83 | 12 224 007 01 |F#hw 2 230 [ 460 M A
2-84 | 10 111 063 M1 |AHEE VI 2 40 80 M6X12 A
2-85 | 10 130 061 21 |27°Vv)" Uyyv— 2 30 60 [ M6 A
2-86 | 10 120 068 21 [/NFTyh 2 30 M 60 M M6 A
2-87 | 10 111 085 02 |AHFAK VI 1 80 80 M8X16 SUS A
2-88 | 10 130 082 02 |A7° V)" Uyyv— 1 40 40 M8  SUS A

EHFi— 0

!

A

IR & 22T 5 45
B OHM




YL—B1i. B21 B TA—F ~"—UEK EHRAT—IH - ZEH %8
FIG. 2 : : Zﬁ \ _ : SR T || E s s s 5

F | N=Ya—=F T S fili A | ARHEERAIL |16 o iems| 5T AR oy ERIN B O

2-89 | 10 134 NS5 02 |7° v=pUyy4— 2 40 H 80 H M8  SUS A

2-90 | 12 294 003 01 |7-2#R 1 50 H 50 FEAE T & A

2-91 10 132 102 01 |phf/EE4x 1 40 H 40 M8 4k (B) SUS A

2-92 | 12 234 002 10 |7~ ME{E (G4 b24yF) 1 120 M 120 H

2-93 | 10 111 08B M1 |[AFK Vb 1 150 H 150 H4 M8 X 35

2-94 | 10 130 082 22 |27 V) Uyy4— 1 30 M 30 M M8

2-95 | 10 134 KQ5 91 |7° v=Uyv4- 1 30 M 30 M M8

2-96 | 10 112 087 nl |44 5K b 2 50 M 100 M M8X20

2-97 | 12 303 010 01 |74 7 4=7" b=} 1 6,600 M| 6,600 K W06-5126-21

2-98 | 10 134 KQ5 91 |7° v=Uyv4— 3 30 M 90 H M8

2-99 | 10 130 082 22 |27 V) Uyya— 3 30 M 90 H M8

2-100 | 10 111 087 ML |AAK Vb 3 90 H 270 M M8X20

2-101 | 12 344 312 01 [7~" WEEE N =V =) 1 390 M 390 M




FIG3 YL—B1i /NIL—2F ) —TF 1v—YH




YL-B1i /W=y 7A—=7 N=UTXFR EHERI— I - 22 B % |
FIG. 3 JAN A SRR || m & et 2 )

FIG SR=Ya— R R ) TS | ARYERAT | 1a it | ienT AR SyiEa-b 2K 3
3-1 12 328 201 01 [tvp—& -u 1 74,400 M| 74,400 M SUs B
3-2-0 ATAN N AT Assy 1 70,290 M| 70,290 [ FI1G;2-12-0-16 A
3-2 12 758 010 01 (74} A (7 1 52,800 M| 52,800 M SUs A
3-3 12 328 203 01 |I =} 47 1 76,800 M| 76,800 M Sus A
3-4-0 57707 =1 (A) Assy 3 250 M1 750 [ FIG;31-32 A
3-4 12 328 204 01 (707" 47—} (a) 3 2,040 M| 6,120 M Sus A
3-5-0 577" 0=} (B) Assy 2 250 M1 500 M FIG;31-32 A
3-5 12 328 205 01 (727" 4" =} (B) 2 3,960 M| 7,920 M Sus A
3-6 12 328 206 01 |1 w=rp™ =} 6 5,160 1| 30,960 M SUs A
3-7 12 328 207 01 [#" =} 27" )vy° 1 4,200 M| 4,200 M Sus A
3-8-a | 12328 301 01 | Lan' =2 V=) 1 114,000 M| 114,000 A
3-8-b =) 1 M M SR i HARTAS AT A
3-8—c | 12 328 302 01 | i~ =(H) 1 31,200 | 31,200 M ¥FIG3-8-b& HIA D

3-9 - 1 M M SR i HARTAS AT A
3-9-1 | 12 328 303 01 | Fan - 1 31,200 M| 31,200 [ MFIG3-9-1& AIA Y

3-10 | 12 328 208 01 |2" hy—} 1 2,880 M| 2,880 M A
3-11 | 12 328 209 01 |/ )y7 1 10,000 M| 10,000 H )7eh-v (H) A
3-12-0 B =hmysAssy 12 3,090 M| 37,080 M FIG;12~14-37 A
3-12 | 12328 210 01 | =}y 12 2,160 M| 25,920 M €3604B A
3-13 | 12 328 211 01 [t 12 520 M| 6,240 [ $3X25 A
3-14 | 10 103 12H E1 |50 pa" /gy 12 50 H 600 M M4 X 12 A
3-15 | 12 328 212 01 | bdn —fR& 2 1 8,900 M| 8,900 [1 ®)7eh-v(3) A
3-16 | 12 328 213 01 |{vF yJx7" 5/¥ 4= 1 14,400 M| 14,400 M PXYS-5-AK A
3-17 | 12 328 214 01 |5v7° 1 31,200 M| 31,200 M MT1000B/BH A
3-18 | 12 384 101 01 |57 Vhy} 1 6,000 M| 6,000 M A
3-19 | 12 388 114 01 [Vhybn vy 1 2,880 M| 2,880 M EY A
3-20 | 12 328 215 10 |77 ty}b7 v=} 1 16,800 M| 16,800 M SUS304 A
3-21 | 10 111 06A 02 |/ASHAK ¥} 3 90 1 270 1 M6 X 30 SUS A
3-22 | 12388 113 01 |77/ —4- 3 2,640 A 7,920 M €3604B A
3-23 | 12 388 111 01 |Bhmn y¥v 1 2,760 M| 2,760 [1 A
3-24 | 10 130 061 02 |x7° V)" Vyvy— 3 30 1 90 M M6 SUS A
3-25 | 10 120 068 02 |/ftyb 3 40 1 120 11 M6 SUS A
3-26 | 10 107 19N 01 |+F=oXf3n" (VM /gy’ 2 30 H 60 M M4 <20 SUS A
3-27 | 10 130 041 02 |x7° V)" Dyve— 2 30 M 60 M M4 SUS A
3-28 | 10 120 045 02 |AfaTyb 2 30 14 60 M M4 SUS A
3-29 12 324 001 01 [2474-CP (4%) 1 25,200 M| 25,200 M -7 RS TAIARE RN Vb E (79) A
3-29-01 | 12 324 002 01 [3#7p—CP (4 1 25,200 M| 25,200 [ e e s

3-29 Y EMZ VAN 1 = ! NRW205ADM123% B it HH Af AS 7] A
329-1 Fravp7t l M M ML PG 3-20 - e

3-30 77 p -2} 1 2! M IPNCT,2 s q X 3t Ml R T A
3-31 | 10 121 068 01 |F{rvFyb 10 210 M| 2,100 M M6 SUS A
3-32 | 10 120 068 02 |/ftyb 10 40 1 400 1 M6 SUS A
3-33 | 12 328 217 01 |57 myJabyn - 1 1,130 | 1,130 [ €3604B A
3-34 | 12328 218 01 |57 ny) 1 4,080 M| 4,080 M A
3-35 | 12328 304 01 |/ )-vhn' - 1 34,800 M| 34,800 M A
3-36 | 12 328 401 01 |UL#N4H 1 39,400 M| 39,400 M 17" vavdh B
3-37 | 10 145 104 01 [Rt'V 12 360 M| 4,320 M A
3-38 | 12 328 219 10 |h 72Fa-7" 1 40 M 40 1 A
3-39 | 10 134 GK3 01 |7°V=pUy¥e— 2 30 1 60 M M6 SUS A
3-40 | 12 336 001 01 |HdkanRA= 1 810 H 810 M A




FIG4 YL—B2i /N\IL—2F ) —TF 13\—YH




YL—B2i "A—r T L—F R—VUFE EHEpi—IH - ERZ 8

FIG. 4 A\ SHES s - e 55
FIG SR=Y a— R oS A B | SRS BRI e o daT Ak Sy fEa-b G OH
4-1 |12 758 011 11 |[¢v4—K —w 1 96, 000 4| 96, 000 H Sus A
4-1 |12 758 011 11 |[¢vp—K —w 1 96, 000 4| 96, 000 H Sus A
4-2 |12 758 010 01 (%54}~ 47° 1 52,800 H| 52, 800 M SuUs A
4-3-0 B =1 nyJAssy 6 3,090 M| 18,540 H FIG;3~6 A
4-3 |12 758 005 01 |4 =} myy 6 2,160 M| 12,960 H C3604B A
4-4 |12 328 211 01 |t"v 6 520 M| 3,120 M $3X25 A
4-5 |10 145 104 01 |Rt" ¥ 6 360 M| 2,160 M Sus A
4-6 |10 103 19J 01 [F~" /7~y 6 50 H 300 M M4X10 SUS A
4-7 |12 328 213 01 (V7 9I27" F0¥ 4= 1 14, 400 M| 14, 400 H PXYS—5-AK A
4-8 12 328 209 01 (7 )y7 1 10,000 4| 10, 000 [ ®U7Eh-v(A) A
4-9 M M
4-10 M M
4-11 |12 754 004 01 |a%/4—(t2)CP 1 25,200 M| 25,200 M 7 MR OSRFRLA SRV A & A

4-11-01| 12 754 011 01 |2%J4—(t2)CP 1 25,200 M| 25,200 M ETIRURTRL 1 ohf
4-11 FA3/B) ) 1 M M NRW205ADM1 235 EHL  HH ff AX ] A

PR 11377} 1 i B e
4-12 M M

4-13 M M

4-14 |12 388 113 01 |77/A~" == 2,640 M| 15,840 H C3604B

4-15 [ 10 130 061 02|27 V) Vyy4— 30 M 90 H M6 SUS

4-16 | 10 120 068 02 |AfTy} 40 H 120 M M6 SUS

4-17 LSV ZE RN as| us| 2PNCT . 255q X 57534 B it H A0 A<

4-18 12 754 010 01 |31 & 1,920 M| 3,840 H

4-19 |10 10319d 01 |[+Poftsr"/vy” 40 H 160 M M4 X 18 SUS

4-20 10 130 041 02 |A7" V)" Uyvy— 30 M 120 M M4 SUS

4-21 10 120 045 02 |ty b 30 M 120 M M4 SUS

4-22 12 758 015 01 (77 ty}h7 b=} 16,800 H| 33,600 H SUS

4-23 12 388 114 01 |Vry b vy 2,880 M| 5,760 H MEY

4-24 |10 10319d 01 |[+Eoftr" /vy 40 H 160 M M4 X 18 SUS

4-25 10 130 041 02 |A7" V)" Uyvy— 30 M 120 M M4 SUS

4-26 10 120 045 02 |ty b 30 M 120 M M4 SUS

4=-27 10 111 06A 02 |/AK Vb 90 H 540 M M6 <30 SUS

4-28 12 754 005 01 [GB## 410 H 820 H4

4-29-0 7787 =N (A) Assy 8,250 F| 33,000 H FI1G;29-36-38

4-29 |12 758 013 01 [5v7 5 =} (A) 8,000 | 32,000 SUs

4-30 12 328 219 10 [#" 9AFa=7" 40 H 160 M

4-31 12 758 022 01|47 )»)” 940 M| 1,880 H

4-32 12 758 002 OL 4™ =F 7" Jv)° 4,320 M| 4,320 SUS

4-33-0 7787 =F (B) Assy 9,850 M| 19, 700 M FI1G;33-36-38

4-33 | 12 758 014 01 [5/7 5 =} (B) 9,600 F| 19, 200 M SUs

4-34 12 224 012 01|77 23,900 M| 47,800 H MF400LSH/U

[SCRN I NCRN B CCRN I CCR I I CCRN B B B NG e I I B B ISR A= = = I SCR B IEGVRE (VR o))

4-35 12 384 101 01|77 Vryh 6,000 [ 12,000 H

= B IS S = =l (el el el (el el (=il (el =il e—cl el el e I I I I I e g

4-36 | 10 120 068 02 |AfTy} 12 40 H 480 M M6 SUS

4-37 M M

4-38 |10 121 068 01 |F4mnvFy} 12 210 M| 2,520 M M6 SUS A
4-39-0 B =1 nyJAssy 6 3,090 M| 18,540 H FIG;39~42 A
4-39 |12 758 005 01 [# =} myy 6 2,160 M| 12,960 H C3604B A
4-40 |12 328 211 01|t"~ 6 520 M| 3,120 M $3X25 A
4-41 [ 10 103 12H E1 |-+F7AHFA /Iy 6 50 M 300 M4 X 12 A
4-42 |10 145 104 01 |Rt" ¥ 6 360 M| 2,160 M Sus A
4-43 | 12 758 003 01 |h"=F n' 47 1 80, 400 H4| 80, 400 M Sus A
4-44 |12 758 008 01 [2" Ahy—} 1 3,840 M| 3,840 H A
4-45 |12 758 019 01 | b~ -f& % 1 8,900 M| 8,900 H ® ) 7e-r (H) A
4-46 |12 758 012 01 [N y=vh =} 6 6,500 M| 39,000 H Sus A
4-47-a | 12 758 017 01 | Edn" = 1) 1 79,200 M| 79,200 M A
4-47-b | 12 758 018 01 | LAn —(H) 1 28,800 3| 28,800 M 17" vavih A
4-47-c | 12 758 018 11| bhn"=(H) 1 28,800 M| 28,800 M 17 V3 ERFICA-4T-b & B T 0

4-48 |12 758 016 01| T4~ —(A) 1 28,800 3| 28,800 M A
4-48-1 | 12 758 016 01 [ Fhr" —(H) 2 28,800 Fi| 57,600 M MFIGA-48 L AHfid




YL—B2i SV—o T L—F RN—UF EEpi—IH - EHEE-H
FIG. 4 VAN AR || & s s 5
FIG N—Ya—F oS 4 B | RS AR | oo ST fEkR Syfa-b B OHM
4-49 |12 758 023 01 |77 )-vhn'— 1 34, 800 | 34,800 [ A
4-50 12 388 111 01 |BHHAN v/ 2 2,760 M| 5,520 H A
4-51 10 134 GK3 01 |7° v=Foyyy— 6 30 [ 180 M M6 SUS A




BT IL—7 I\—YH

=[]
n

YL-Bli, B2i AE

FIG.5




YL—-B1li, B2i AEHEHKI LV—T ~—UF A ZHRI—IH - ZEEBR
FIG. 5 - — _ e . *’»‘%’E@% | |1BE & S22 5
FIG N=Ya— RS 4 B | S| BRI | eomem| g ok 5y4a-) & O H
5-1-0 77 y7° Assy 1 16,620 M| 16,620 M FIG;1~4 A
5-1 12 292 025 01 |77 Yy7° 1 840 H 840 M GP-49 A
5-2-1 | 12 338 008 01 [y FA(J Yy7 H V)| 1 15,600 | 15, 600 [ A
5-2-2 | 12 338 011 01 |9z{}B 1 15,600 M| 15,600 M A
5-3 10 130 122 21 |A7° V)" Dyya— 1 30 1 30 M M12 A
5-4 10 111 12h N2 |A£AK wb 1 150 M 150 M M12 X 75 A
5-5 12 338 002 01 |17 (A) 1 6,500 M| 6,500 [ B
5-6 12 699 114 01 |4v7 9Jx7° 509" - 1 5,880 [1| 5,880 A
5-7 12 338 010 01 |/AHAK Wb 1 470 H 470 M M14 X 7031 T & A
5-8 12 338 009 01 |7 V=F7y¥v— 1 460 460 M14 (NSK) FTRA-1831 A
5-9 10 120 14C 71 |y (=) 1 100 M 100 M M14 A
5-10 | 10 120 14C 71 [ty (Z5E) 1 100 M 100 M M14 A
5-11 | 12 338 003 01 |V»7 (B) 1 18,000 M| 18,000 M B
5-12 | 12 338 004 01 [V (C) 1 8,000 M| 8,000 M B
5-13 | 12 338 010 01 |/AfAK wb 1 470 H 470 M M14 X 7031 T & A
5-14 | 12 338 009 01 |7 V=F7y¥v— 1 460 460 M M14 (NSK) FTRA-1831 A
5-15 | 10 120 14C 71 Aty (Z5E) 1 100 M 100 M M14 A
5-16 | 10 120 14C 71 Aty (Z5E) 1 100 M 100 M M14 A
5-17 | 12 328 102 01 |EE4H 1 4,440 M| 4,440 [ A
5-18 | 12 338 010 01 |/AfAK Wb 1 470 H 470 M M14 X 7031 T & A
5-19 | 12 338 009 01 |7 V=F7y¥v— 1 460 M 460 M M14 (NSK) FTRA-1831 A
5-20 | 10 120 14C 71 [ty (Z5E) 1 100 M 100 M M14 A
5-21 10 120 14C 71 |y (=) 1 100 M 100 M M14 A
5-22 | 12 328 101 01 |@EE /M W 1 2,520 M| 2,520 [ A
5-23 | 10 112 089 M1 |AH/ATE W] 1 100 M 100 [ M8 X 25 A
5-24 | 12 338 007 01 |W+ylCP 1 1,200 M| 1,200 M TR NN b B vE T A
5-25 | 12 699 114 01 ({7 9)27° F0¥ 4= 1 5,880 [1| 5,880 M A
5-26-0 )7 (D) Assy 1 24,260 M| 24,260 M FI1G;23~27-32 A
5-26 | 12 338 005 01 |Vv7 (D) 1 16,800 M| 16, 800 M A
5-27 | 10 120 14C 71 Aty (Z5E) 1 100 M 100 M M14 A
5-28 | 12 338 010 01 |/AfAK Wb 1 470 H 470 M M14 X 7031 T & A
5-29 | 12 338 009 01 |7 V=F7y¥v— 1 460 M 460 M M14 (NSK) FTRA-1831 A
5-30 | 10 120 14C 71 [ty (Z5E) 1 100 M 100 M M14 A
5-31 10 120 14C 71 |y (ZFH) 1 100 M 100 M M14 A
5-32 | 10 11M 12A 71 [x)EI4FILE Vb 1 180 180 M M12 X 30 A
5-33 | 12 338 006 01 |V»7 (E) 1 4,680 M| 4,680 M A




(it - 118 0)

DRME| gomE | sh |MRES|eHAE| BE | 0@ | mE | M | e
A 1,000 800 800 900 1,000 1,300 1,300 1,400 2,000
B 2,000 1,600 1,600 1,800 2,000 2,600 2,600 2,800 4,000
C 3,000 2,000 2,500 3,000 3,900 4,000 4,500 5,000 6,000
D 8,000 4,000 6,000 7,000 8,000 9,000 9,000 10,000

LEE | AR | ZAR | BER | KGR | BLER | SR | BER | AR

EFR | AR | BAR | WA | KRR | B5E | AR

ESR | BER | MSR | BHR | LUOR | BEE | XHR

EBE | BER | ER | %8R | BRA | BAR | £2E

HER | FER | EUR (MRLE BRE AR
LR | BNR | RER EREBR
T | 1B HISR
IR
EER

X BME~NOHADBEEMNERRYEEL(GBEVLELEY,
XKOEXER G R A S FICHA TR REE DS, g7 1M AA~DDRET
RHEICEIGEENHYFET .
XOENMRRBAEATHIEATRETESERIELEDMETY  BADKESPESLET,
BHEBRIEIXKICEONMEZDEHEELNHL A, CTETEL,
(ZDHEIF LERMEXEARIEYET )




